[ Efficiency vs vertpos |
~ 0.7
£0.09
g
20.08
(8]
§0.07
QL
£0.06
0.05,
0.04
0.03
0.02

0.0

e

1.0

Ratio

iy
T

0.95L : :
1072 10 1

10 0?
TP vertr (cr%)

—=— _/DQM_IT__original_PUO
—«— DQM_TT_TpL_eta3_IPU

— DOM_TT__plL_eta3_2PU
Efficiend —— DOM_TT _pL eta3 2PU

~ 0.1

L R UL HE KL S
0 E : : : : :
Z0.08------ AR AR R e
> E : : : : :
2 E : : : : :
R S S A
o F . . . :
£0.06 - P B R
o E : : : :

S e SRtin [hd W BRI |

0.04F il ie {
0.08F -+t 4l % b

0.02%— ------ Peeeee {1 1L EAN
0.00 oo %{,#% 1)

Vs

Ratio

H
T

30 -20 -10 0 10 20 30
TP vert z (cm)

0.95!

[ Efficiency vs. sim PV z |
~n 0.2
> E E E E E

0-0.18F preyees priyeees AR
€ . : : : :
7R S I A S SR S S
T S S S

> F : : : :
U S S S

e

I R R S
S r : : : :
O SR e
0,06+ b-ooveeesieess i
0.0af - ++ -------
: oL T
0.02f - - - RIS
IR AN A AT
o +Lf : :
?U‘ i . .
2 [
1:,. ------------
B =5 0 5 10 15 20

Sim. PV z (cm)



	Contents
	Page 1


